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1) A reliel package is released from a helicopler at Fo86<{eel. Eg ht of the

package can be modeled by the equation /1 = —167° ++556- where /4 is the
—

height of the package in feet and ¢ is the time in seconds. The pilot wants to

—

know how long it will take for the pacEage T0 hit the roof of a building 50 feet off

the ground. LR\-= So
a) Write the equation that you are trying to solveso = -Ib.t + I bs 0
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h is the height of the flare above water and r is the time in seconds. Find the time it takes the flare to hit the
walter.

m M®Maﬂr@to solve. < 3 — ’l l _,‘, ,‘)" ! + Sb
b) Solve the equation by factoring.
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4) The height of a triangleis 5 lesﬁa%&n%.qrdfegaf the friangle is 42 square 1nc1?cs and @base .
height. ’t = = "—2 - q

a) Draw a picture to represent the situation.

b) Write the equation that you are trying to solve.

¢) Solve the equation by factoring.



HOMEWORK:

These are in
the notes part

of your book! \page 13 #6,8
P-12 #13-17

*Factoring QUIZ tomorrow!

n

The product of two consecutive odd integers 1s 99. Find the integers. page 1 3

a) Write the equation that you are trying to solve.

b) Solve the equation by factoring.

188 188

6) The height of a rocket launched upward from a +6&-foot cliff is modeled by h=—161% + 48 + & where /1 is
the height in feet and r is the time in seconds. The rocket landed in a tree, 28 feet off the ground.

a) Write the equation that you are trying to solve.

b) Solve the equation by factoring.
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